
−Pw = P ; −πw

P πgw
= πgw

Pw � P −πw = −πwP + −Pw

−πw =
aw −c∗w
cw dw

� Ωv:w = c∗w cv − c∗v cw

−Pw = P ; −πw =
1 0
0 0

; aw −c∗w
cw dw

=
0 c∗w
−cw 0

LHS = P −P v ; −Pw

X Z

P =
1 0
0 0

0 c∗v
−cv 0

; 0 c∗w
−cw 0

Y [

1 0
0 0

=
1 0
0 0

c∗wcv − c∗vcw 0
0 cwc

∗
v − cvc

∗
w

1 0
0 0

=
c∗wcv − c∗vcw 0

0 0
= RHS

−πv ; −πw =
av ; aw + Ωv:w 0

0 dv ; dw + cwc
∗
v − cvc

∗
w

LHS =
av −c∗v
cv dv

; aw −c∗w
cw dw

=
avaw − c∗vcw − awav + c∗wcv −avc

∗
w − c∗vdw + awc

∗
v + c∗wdv

cvaw + dvcw − cwav − dwcv −cvc∗w + dvdw + cwc
∗
v − dwdv

=
av ; aw + c∗wcv − c∗vcw 0

0 dv ; dw + cwc
∗
v − cvc

∗
w

= RHS

P
′

wϕ = I − P
Y [−πwϕ = I − P

Y [
αwϕ+

∗
β

w
ϕ+ ∂wϕ

Y [

P
′

w = Q
w

+ Q
∗
w

Q
w
ϕ = I − P

Y [
αwϕ+ ∂wϕ
Y [

Q
∗
w
ϕ = I − P

Y [

∗
β

w
ϕ



P αw + β
w

+ ∂w
Y [

ϕ
X Z

= 0

P ∂wϕ
X Z

= −P αw + β
w

Y [

ϕ
X Z

0 = −πwϕ
Y [

Lψ + ϕL −πwψ
Y [

= αwϕ+ β
∗
w
ϕ+ ∂wϕ

Y [

Lψ + ϕLαwψ + β
∗
w
ψ + ∂wψ

Y [

= αwϕ+ ∂wϕ
X Z

Lψ + ϕL β
w
ψ

X Z

+ β
w
ϕ

X Z

Lψ + ϕLαwψ + ∂wψ
X Z

=
w-lin

αwϕ+ β
w
ϕ+ ∂wϕ

X Z

Lψ + ϕL
w-lin

αwψ + β
w
ψ + ∂wψ

X Z

� αwϕ+ β
w
ϕ+ ∂wϕ

X Z

Lψ = 0 = ϕLαwψ + β
w
ψ + ∂wψ

X Z

� αwϕ+ β
w
ϕ+ ∂wϕ � P

ú � αwψ + β
w
ψ + ∂wψ

x
δg

x C g

w C gP y C g

y∗
δg =

x
wP y

x
δw =

x
δgw

x
δw

x C gw
wP y C gw

y∗
δw =

x
P y

− x
wP

′

y =
x
P y

x
δ

′

w +
y∗
δ

′

w
Y [

+ x E γ
w

Y [

x

−P y + y E γ
w

Y [

y

−P x

x
δ

′

w
x
P y +

x
wP

′

y + x E γ
w

Y [

x

−P y + y E γ
w

Y [

y

−P x +
x
P y

y∗
δ

′

w = 0

x C gw\ =

¿∫
dy

x C gwP y
y\

x D γ
w

X Z x

−
\ =

¿∫
dy

x D γ
w

X Zx

−P y
Y [

y\

x D γ‡
w

X Z x

−
\ =

¿∫
dy

y D γ
w

Y [

y

−P x
y\


